EAGRAROBREERT — 2 N— IBISH —F

2021548208 (K) 1EI1IB2H

IGR T 7V T7S5T—8 (hRITHK)

YR 3™

ECEE R

[A&4£] 1 7 :2,500,000 @ 23 :1,000,000 33 :625,000  ~ 4 3% :375,000 @ . 5 7 :250,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
— N KEHEZ :30. -1-1- . - SRE— (1l
lsl5 | N—F=—LoNZ 3 gl 1(3_0)2 1-1-1-1 | 39.7 1 <5+131) B
R:Hgh—0 B:erav /v e Gintie]
— . e IS :31. —5-4- . - RARIE (FR)
5 o | FmaE—2 43 ol 1(3;)3 5-5-4-4 | 40.2 9 (4+6;)) EE%g
R:Eh—T BNV HRAS H—NRFIN—7 X8V K
= g 4 3 | AEESE 1:31.3 6-6-3-2 | 40.2| — 2 426 | FEERZ (hR)
3 6l E-E=F/ET 54.0 (7E) -4y | B) RHS
x40 B:ATILR fx:Eie ]
. o . #1138 : 00— — HEB®%HE (dR)
al1]1 €y Tan~y b i 3 Al 1.(311).5 2-2-2-2 | 40.7 6 (4_660) predcil
R:YyZ2X4—3=24— F:EaAHCE2-EL EYFHT7—L
5 = ft 3 | BEEBA 1:31.8 9-9-9-5 |40.2| — 7 406 | isE (1)
EH 7122/72747 54.0 (1 1/2) (o) |MEEE
R4/ LYK BT ARA— KALHS
¢o EEEL : -10-10- = hnEEs— (J11E)
61810 3/ A FIN> 4 3 A51.0E 1.(332).4 10-10-10-8 | 40.4 4 (4+671) N
L:IvFx—TAIN B:XXHY—HI Kb BE
= 4 PEAIRIE : —6-7- - e A= (1)
7 3| I HLI =1 - it 3 B 1(.33/%4.)6 8-6-7-6 | 41.0 3 3226) PG
R:TIvIEAK B:U/yIR EHEDKIS
=i = 3 | EEEX :33. -11-11- . — REZEZ (hR)
8 s\ NeFIso0 Loy A (12313/21) 11-11-11-10 40.7 1 (g;) ko Ls
R:T71/—*/ B:xAIYIA—> #HE EA
. — MEEE :33. -3-5- . - sEARFT A (1105
9|81t NTLTA R R I PG |
R:TSTIVRZ B:TFYL—> —BHS
LTS5 it 3 | BEHRER 1:34.0 3-4-8-11 |42.6| — 5 470 | RibERE (/1)
10l7lg| F>733 54.0 2 1/2) (-3 |AHIEER
LHIRG A TTR BV RTF—F T I— LYV T 7 — L
f 3 | BEE 1:34.2 7-8-6-9 |42.6| — 8 422 | BAMRBE (k)
1lzlg| 7epE—N %53.0 0 o) | (B) EEsE
LTIyl BTy y—TYyF-X =Y i)
® I —F—EBIERL
13=7r= 5,1,8,11,2,6,9,3,7,10,4
2= = 5,1,11,8,2,(3,6),9,7,10,4
30—74— 5,1,6,2,11,9,3,8,7,10,4
43—+— |5,(1,6),2,7,3,11,10,9,4,8
[ RNz
BB 5 200M 74K 2-5 1,700H & 2-5 4,680M JEHE 2-5-6 4,740
8 B 5 1509 5-6 210M B &2 6,100M K31 5-2-6 25,640
2 560M 2-6 2,160 B E 2-5 5,590
6 140 B H# 5-2 5,180M

ARICOVWTRDTEEERROODE. TR LIV,




